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Question Number : 1 Question Id : 550053641 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let AcR BcRand f:A— Bbe defined by f(x)=x"-3x+2. If fis a bijection,
then

AcR BCR &8cbn f:A—B&, f(x)=x"-3x+2m Dd&bcg*o.
28 &(rber Do 0aNd, B\

Options:

s _1
A=(—o0,0|, B=] —o0,—



A= EJ.B: Lo
L2 | 4
2. ¥ il
A=|2 o] Bz[.—-:o*_l}
12 ) \ 4
3. % - |

Time:0

Question Number : 2 Question Id : 550053642 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

If f:R - R is defined by f(x+y)=f(x)+f(y) ¥x.yeRand f(1)=7, then

[ R-R &, f(x+y)

=f(x)+1(y) 7x.yeR Sobao f{l)=7 e AR,
SR Y 1(1)=
r=1
Options:
3n(n+2)
. 4
n(n-—1)



Tn(n+1)

~

=

3. ¢

(n+1)(n+2)
4

Question Number : 3 Question Id : 550053643 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Y

[—cot® cosecB . 5
Let A:r 5 8" IfA"=Aat0=06and A" +A=0 at 6=0,, then
| cosec —cotf :

J

which one of the following is True?

[—cotf cosech) P
A= wRoro. H=0 3¢ A” =Adbain 0=0,58
\cosect —cotb @ B
AT+A=0 wond, 08 TS 8 7

Options :

0, = —. such 6> does not exist

0 :g. 0e0t) B D§5DSB0 7k



such 01 does not exist, 6, ==

eat08d 0 sﬁséﬁaéc ety @ =7
4. % 7 i :

Question Number : 4 Question Id : 550053644 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: | —— .
A matrix whose elements a;; are defined by aij:?‘l—S 11,L1=1231s
3
b sl s
a,=—[1-5],1.]= L.2.3 1t Qd(loderid duresten a; ol (S rgs
Options :
4 3 4
3
8
L= 13
3
2 7 4
_fa 3
1.% - -
_i E_
33
, 813
3 3
2 7
— — 4
VN
2. ¢



4 _ 10
R
3 3
8 13
1_
3 3
2 7 4
(4 3 10|
8 13
2 7
4. % = B

Question Number : 5 Question Id : 550053645 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If P. Q and R are 3x 3 matrices such that
C3aansd Mntowed Tesleh)
5 +3x+2 4% -2x-1 7x +5x+8|=Px’+Qx+R, then detR =

x5 4xi-x-2 3xz+8x—7j

(3% 4+x43 2P -x+4 T 48x+5)
SXO+3x+2 4% -2x-1 7% +5x+8 |=Px’ +Qu+R eclgotn ad) 3x3

+2%45 4xt-x-2 3x2—8x+?;

e
-

Ardsoo , oy detR =
Options :

1.330



Question Number : 6 Question Id : 550053646 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If C is a point on the straight line joining the points A(-2+1) and B(3-4i) in the

AC ’
Argand plane and . then the argument of C 1s

-

ol dwod” A(-2+1) dbokw B(3-4i) Dockoipoiy 90 26vow » C s
D0t0) SoBodn i le.ocmé )\ C d3wg). esosre
0 — == : . 0
(B 2 ) b

Options :

-1
|« lan™3

lg
- Tan 2—Tm

Tan'2

-1
4 x T—Tan™3



Question Number : 7 Question Id : 550053647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If o is the modulus of z, =443, then a point that does not lie in the region

represented by‘z ~Z,|<0 1S

7,=4+31 ag) &rd0 1 @08, Y\ ‘z—z_1 <0l 2o FododS” &) 2

Doto)
Options:

1. %

2e;—T1

3z,—(10+8i)

Question Number : 8 Question Id : 550053648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If z,, z,, z,are the vertices of an equilateral triangle and z 1s its circum centre, then
), 7), 2,00 28 DR Sgbao g 37700 S0baku 2 o 2850808,
E.‘J'Q‘)bm

Options:



‘2—21‘ - |z—z3|

==

‘z—z,
1.¢ -

z—z,|+|z—2,|+|z—2|=0

2_%-5
7o
£ o)
3, % ‘
z-z|+|z-z, i
4, % ‘2_23‘

Question Number : 9 Question Id : 550053649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a and b are the roots of the equation y* +y+1=0. then the value of
a'+b*+a7bis

Y Hy+1=0 20860 ciog), Sureren a 080k b ond, 0y

a*+b*+a b a30g), Densd

Options:



Question Number : 10 Question Id : 550053650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If x* +x—6 is a factor of 2x° +x* +ax+Db, then 6a+13b=

287+ X7 +ax+b D X7 +X -6 28 STESB, WYy 6a+13b=
Options:

305

Question Number : 11 Question Id : 550053651 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If c and d are the roots of x° +ax+b =0. then a root of
x’+(4c+a)x+(b+2ac+4c’)=0 is

¢ 08030 d e X7 +ax +b =0 Bwg), JrerGd. N\
x'+(4c+a)x+(b+2ac+4c’ ) =0 B, 28 Srwo
Options :

| % d+ 2c

, & d+cC

- d—c
3_%-5

Question Number : 12 Question Id : 550053652 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the equation x* +7x" +18x" +20x +8=0 has a repeated root, then that repeated
root is

28680 X' +7x° +18x7+20x +8 =09 a8 IHEE Surerdot, S\ &
DADE Baredn

Options :

e |

=

1.9



Question Number : 13 Question Id : 550053653 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the equation 2%’ +5x° —4x -12=0 has a repeated root, then the constant term of
the quadratic equation whose roots are the distinct roots of the given equation is

AEGmAW 2% + %7 - 4x-12=0 w8 AWE Srosndy $9A ¢of, WD\ 63
HODEBEAY Gg) DD dreromy, rerearr $98 3¢ HEEGEIAD s

loré]als)

oes

Options :



Question Number : 14 Question Id : 550053654 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The greatest integer r such that 30" divides 30! is

30! & 30" erfostio 1 o 483 Lrgroso

Options :

1.“8

2. ¥ 7

Question Number : 15 Question Id : 550053655 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

—

1
The coefficient of x° in the expansion of (1-2x)7 (1+3x)3 is

1 1

(1-2x)7 (1+3x) 3 obog), Do’ x° abog), eso
Options :

20

2
1.9 N



-2
=

3
17
3. % 3
17
4, % 3

Question Number : 16 Question Id : 550053656 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of arrangements of the letters of the word ARRANGEMENT in
which two Es’ do not occur adjacently is

G0t E e 99096 G%0m ARRANGEMENTed 506" wgored D@

Sheblelld) Kaoa:]g

Options :

9
=(10)!
5\10)

9
- (10)

9
(10!
16



?(10}?

4

4, %

Question Number : 17 Question Id : 550053657 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of words that can be formed using the letters of the word VO W E L
s0 that vowels remain always together is

VO WE Leo8"d egooiodairfon, @xken Juth 8% a8 §b
GG B\6esdT DT Doz
Options :
60

1. %

5 @ 48

Question Number : 18 Question Id : 550053658 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The number of elements in the set {a =\ C

T =2 P | o
D03 {:s; =N g i r:;%}éﬁ.ﬁ Sareste) SEEM

X—=

Options :

Question Number : 19 Question Id : 550053659 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

CotA tan A

Al

l—tanA 1—cotA -

Options :

fan A +cotA

1. %

- sec A +cosecA
2. %

3 % SIMACOsA+1



secAcosecA+1
4,

Question Number : 20 Question Id : 550053660 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T8 = 5 then 1+ 27 tan’0—33tan*0+tan’6 =

0= g 00BN, 1427 tan’0 —33tan’0 + tan®0 =

Options :

Question Number : 21 Question Id : 550053661 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
cot18°. cot36°+1=

Options :



2. %

B —al5
3. %

3445
4. \/_

Question Number : 22 Question Id : 550053662 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

i
If cos’x sindx =) a sinrx VxR, then a,+a;:a +a, =

r=0
3 1n
cos'X sindx = ) a sinrx Vx € Reond, DD\ 8, +2,12, +2,; =

r=0
Options :
1% 113
5 % L1
3 0 2:1
e |



Question Number : 23 Question Id : 550053663 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In AABC. (cotA+cotB) (cotB+cotC) (cotC+cotA)=
AABC &, (cotA+cotB) (cotB+cotC) (cotC+cotA)=
Options :

- sec A secBsecC

, » tanAtanBtanC

v cosec A cosec B cosecC

4 % CotAcotBceotC

Question Number : 24 Question Id : 550053664 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If 2smhx =-coshx, then x=
2smh x = cosh x esc0e3, E.*)E;D:Jd..) X =

Options :

-2

lo

§=

| =

-2
e
=]
=]
Lrd



Question Number : 25 Question Id : 550053665 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: s qaaB . . ;
In AABC. if cos A+cosC =4 sin’ 7 then the ratio between the perimeter of the

triangle and (a+c) is

., B
AABCS’ cosA+cosC=4 sin” 29008, €3 Sz c&néb AVAY Sodd

Sodakn (a+c)s dodjio Ad
Options:

2|

1. %

()
2



Question Number : 26 Question Id : 550053666 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In AABC, if ZA=90° then (1,-5) (5 —-1)=
AABC & ZA =90° a0, @D\ (5, -1) (5-1)=

Options :

Question Number : 27 Question Id : 550053667 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In AABC. ifa.b.c are in arithmetic progression and C=2A, then a:¢c=
AABCE’ ab.c oo ©083¢8" od 8ok C=2A eond, ey a:c=
Options :

L i

1. % )

-2
(b



Question Number : 28 Question Id : 550053668 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

It ~X"+6x+1 _ A B _ILE{—J

P R H—— , then A+B+C=
-y (x"+2) x-1 (x-1)° x"+2

2 '
—X"+6X+ ' X-3
B - ,,+th @wad, W\ A+B+C=

E-1P(x*+2) x-1 (x-1} %242

Options :

&
1. %/

N

w
#
Lad

-2

Question Number : 29 Question Id : 550053669 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let 5:2i+]—E and B:E;SE—SE be two vectors. and 1 be a vector along the

vector 3a-2b such that ‘1“:\@. If the direction of 1 is opposite to that of

3a-2bthen 1=

a=2i+]-k “8abo b=i+3j-5k £ dot Hi%es Sobasw M:\/ﬂ
oah{LbUT 964 31-2b Bowd T w8 VB8, T g &9, 3a-2b § SO B
&o83, SN r=

Options :

—7i-4j+3k
4i+7j-3k
_4i+3j-7k

4i-3j+7k

Question Number : 30 Question Id : 550053670 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If i is the position vector of the centroid G of triangle ABC and 2i+ j+k and
2i+ 43—4E are respectively the position vectors of its vertices A and B, then
AG' +BG'+(CG’ =

&m0 ABC o), Sogerido G aog), 3 069 § @Bk 2i+ j+k @Botw
21+ 44k 00 S o Agen A @8afn Bo ding) b 26358, ey
AG'+BG’+(CG’ =

Options :
1. # o

> v 14

3 % 86

Question Number : 31 Question Id : 550053671 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a=-21+9j-6k and b=ti-2j+06k are vectors such that ‘a +b‘ =25, then the

sum of the values of t is

a+b|=25 eabiew a=-2i+9j-6k Sobaty b=1i-2j+ 6k w2 d&%w awd,
9 T avg), e dudo
Options :

1 x 14



Question Number : 32 Question Id : 550053672 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a =1+3j+13k and b=2i-4;+3k are two vectors, then the component vector

of Epezpendicular to b is

a = i+3j+13k 800 b=2i-4j+ 3k Sock HB30NS, B\ b D wowor
o a aiwg), v&Foto.

Options :
o 1i-2K
31_+33+2E

—i+7j+10k

41+53+4E



Question Number : 33 Question Id : 550053673 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let 5:271—3]—:@ and 5:31+23—5E be two vectors and 1 be a vector in the

plane of aandb. If ris orthogonal to the vector Si- 2}+ 3k and the magnitude of

I s @ then ‘IB‘ =

a=2i-3j-5k @8okw b=3i+2j-5k 0 Goth B%e0, a Sbatd b og)

S0’ w8 6% I eibomo, I avg HBSrmo Y94 SoBotw 5i-2j+3k

L6801 QonoTT Goll, O\ \E.E\ g

Options :

6

L)

1. %

(43
o0

Y,

4 v 46

Question Number : 34 Question Id : 550053674 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



il 3
IfX1. Xp, ... Xy are ‘0" observations and Xis their mean. If X (xl—x) 1 almost zero.
i=1

then a true statement among the following is

X1 X0, ... Xy 0 1 D820de0 ocky T8 Socsgsoo X, X (x. -X) zoym
=1

W) owd, et §0d HE VBEY Vo
Options :
It indicates a higher degree of dispersion of the observations from the mean X

600 X Aod 6300 D6 F00 Iy 1T et IV,

1. %

It indicates that there is no dispersion

G DB DA ATrob

2. %
Y (%, —X) is the arithmetic mean of the data
o i
& S@roBH MY, oS Be(o T (x; —X)
i=1
3. %

It indicates that each observation x;is very close to the mean x and hence degree of
dispersion 1s low.

99 26308 X, OO X & o K00 Hodd, ST DO Fraw

OO DOt VAV
4.4

Question Number : 35 Question Id : 550053675 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let A and B be two independent events of a random experiment. If the probability
, | a2 . ; o}
that both A and B occur is : and the probability that neither of them occur is —. then

i
the probability of occurrence of A is

A 30Baty B 28 airesciyé B30 3od) ot A Jog okden 880l A

26030 B Godr 260 oz % 208050 Botkr 268 Foreds Ko RogPS

%9303391 )\ A 200023 o) 0TS
J * 1
Options :
Oorl
- 0 S 1

3 | —

[

[ 0

3 | —

3.¢

4, %
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Question Number : 36 Question Id : 550053676 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A game consists of tossing a coin 3 times and noting ifs outcome. A boy wins the
game if all tosses give the same outcome (1. three heads or three tails) and loses the
game otherwise. The probability that the boy loses the game is

28 TE) 3 D A0S Sakco, SO DT Hdodociiko w8 ey, w8 erendd
) oD w8 Do (09083 o 50y 0 TE° Srer 6" haen) D
208 Ere0c) 09t DMLY, BEPTPEY'S i) LEAHA rARPE. € arend) i’

5,665 0T

Options :

4 | W

1.¢

N

| kD

3. %



ujll—l-

Question Number : 37 Question Id : 550053677 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A, B and C are three events of a random experiment with P(A) = 0.4, P(B) = 0.3
and P(AnB)=0.2. then the probability that neither A nor B occurs is

P(A)=04,P(B)=0.3 &bain P(AnB)=02 e.adijlggp A. B 60 C 28
ojmaé‘)s 2030 o&wé& 2002 oS, @:@Jm A 20030 B e Godtr 20608
JHeS e 0eRS

Options :

Question Number : 38 Question Id : 550053678 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two dice are rolled. If A denote the event that the same number shows on each die
and B denote the event that the sum of the numbers on both dice is greater than 7,

then P(A|B)andP(B|A) respectively are
Gocty PSR EGoardh. Goco) 0o &8 Voaf Iy Whdi A dbak
Gocotd S0IFVDN 5‘3{3;) o[ 2wdo 7 o8 .Déo&b ?:deij?g abd BT aruy,

@3\ P(A|B) 8oty P(B|A)e S6xrr

Options :
2 |
e 5 4
1 1
, e 3 2
1 1
3. % - 3
1 3
Lx 2" 8

Question Number : 39 Question Id : 550053679 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The value of the constant ¢, so that P(x) =c¢|—| ,x=123,... is the probability

distribution function of a discrete random variable X 1s

w K

P(x) = c[%}

TR DB wo&a&&@aoﬁ, fgcim? B A DEND

R=123 s .Drf)ﬁl ojrda%é Sor°3 X ding), doerd(er

Options :

1
3

13 | —

2. &

3 % 1

Question Number : 40 Question Id : 550053680 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the difference between the mean and variance of a binomuial variate is 5 then the

probability of getting 2 successes for an event when the expertment is conducted 5
times, i

28 B S dg) [0 LBk RS © W o o % oS, €

DO 5 ¢ RPN 2 T R0 6l 0% N Dogrid



Options :

18
234

12
241

Question Number : 41 Question Id : 550053681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the equations X=t'+t+1, y=t"—t+lrepresents a curve C with parameter t, then
the Cartesian equation of C is

T 28 DA ABakw X=tHt+] y=t-t+] 2Ddoeren g dgo C D
DTS t 8 APy, B\ € 008, $ERAHS 20860
Options :
X’ —2xy+y —2x-2y+4=0

1.4

2 Vs rj_ = T —
, x X H2Xy+y 2% —-2y+4=0



X —2xy+y +2x+2y+4=0

X’ —2xy—y +2x+2y+4=0

Question Number : 42 Question Id : 550053682 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The circumcentre of the triangle with vertices (=2,3).(2,-1),(4.0) 1s

(-2.3).(2.-1).(4.0) is 3gren ™ o Gabwo 308, 08 Sogho

Options:

-H'-\.
"

-
r2 | W

M'I'Jm
S

e e,
b |




Question Number : 43 Question Id : 550053683 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If PS is the median of the triangle with vertices P(2, 2), Q(6,-1) and R(7, 3),

then the equation of the line passing through (1, —1) and parallel to PS 1s
P(2, 2), Q(6.-1) vBaswo R(7, 3) Igren i Sabao dng), S0ckrié 82 PS
08, )\ (1, —1) Dockoid) thore e PS & Miirodtorr eod G abug),

28860
Options :

4x+7y+3=0

1. %
- 2x —-9y—-11=0
4x—Ty—-11=0
3. %
Zx49yv+7=1)
4, &

Question Number : 44 Question Id : 550053684 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two sides of a thombus are along the linesx-y+1=0and 7x-y-5=0. If its
diagonals intersect at (~1,-2). then one of the vertices of this thombus is

wS TP A0S Aarey X-y+1=0000kw 7X-y-) =030 S0t &) .

& TR ST (~1,-2) 5¢ wocothy Sotd, Trowd ag), IR’ w8h
Options :

3.16)

1. %

Question Number : 45 Question Id : 550053685 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 2x°-5xy+ 2y =0 represents two sides of a triangle whose centroid is (1. 1),
then the equation of the third side is

(1.1) o Bogsersiorr (DA% a8 Gxoao 608, Botd Foaredy 2% -5xy+2y’ =0

AR08, B\ & Gakomo AN, Jarc aao A0S 6e0
Options :

X+y+3=0



e
|
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Question Number : 46 Question Id : 550053686 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let the curve x° +2y" =2 intersect the line x+ y =1 at two points P and Q and O be
the origin. If @ 1s the acute angle between the lines OP and OQ, then tan =

0 Surefoc) 2080k x+y=1 6od X' +2y° =2 3540 P &baw Q » 3
PoGaod wvdoaro. OP, 0Q Sae mqslgﬁv 000 S50 6 eond, LN
tanf =

Options :



1
5

Question Number : 47 Question Id : 550053687 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A=(2.3,4)andB=(-2,3.4), then the locus of a point P such that PA+PB=4 is
A=(2.3.4)S08ak0 B=(-2,34) wowd, o) \¢wPA+PB =4 waljttorr oo
Do) P 03:052; Do Do

Options :

V' +2'+6y+82z4+25=0

1. %
}72_ Zl— 6}’—1—82_25 =0
2.%6
L, YTz -0y-82+25=0
V+z - 6y—-8z—-25=0
4. %

Question Number : 48 Question Id : 550053688 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If (/,,my,n,). (/,,m,.n,) are the direction cosines of two lines. then

2

(lm, ~Lm, )’ +(m,n, -mn, )’ +(@,/, —n,0) + ([, +mm, +nn,) =

(7, m.n,) dakn (/,,m,,n,)en Gok Sw &S S0 e wowd, WDV
(lm, -Im )’ +(mn, -mn,)’ +(n/, -n,0)* + (], +mm, +nn,)* =
Options :

1. % 0

Question Number : 49 Question Id : 550053689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A point on the plane passing through the points (\E 1.4). (0,-1.0) and (0.0,1)1s
(v2.1.4), (0,-1,0) 48050 (0,0,1) Docodyo Mot el Seop e as Do)y

Options :

. (V2.1-4)

Lo (W2.14)



(2.-1,4)

L (2.-1-4)

Question Number : 50 Question Id : 550053690 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3
and

The lengths of the mtercepts made by a circle S on X and Y- axes are —
3

27 3
respectively. If the radius of the circle S 1s —

3 2

second quadrant, then C =

38
and its centre C lies in the

V13

&
o

S 09 28 dydo X 0805w Y - 9Fep 5 088 a0t JESHR0 SET

‘/— 2 J;@do B So8at @ Sogho C Fodksd

3

F AN’ eoej iy C =

Options :



Question Number : 51 Question Id : 550053691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the mid point of the chord intercepted by the circle x* +y° ~8x+10y+5 = Oon
the line 2x+y+2 = 0 is (h. k), thenk +4h =

2x+y+2 = 0 8o X' 4y -8x+10y+5 = 0 0 S0 vocoisre J\E &

a0 dodf Dociosy) (1. k) 9O, W)\ k+4h=
Options :

2
1. <

2.*“50

Question Number : 52 Question Id : 550053692 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
If a circle S passing through the points A(1. 2) and B(2, 1) has its centre C located in

. . T -
the third quadrant at a distance of — units from AB, then the point P(1,-2)

2

A(1,2) Sobaty B(2. 1) Docoie thote Fah gygo S aing) Sogo € Suress

F o' ws Dot AB &vod LS CSeE Grd0eS” €olS, C @\ P(1,-2)
g

N2

9 Do)
Options:
lies inside the circle S

ydo S e’ e cotwod
1.4

lies outside the circle S

. Oydo S 2038 &otwod
2.

lies on the circle S

Dyo S D &otwod
3. %

lies on the line AB

DEY G0 AB D eotwod
4. %

Question Number : 53 Question Id : 550053693 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The equation of a tangent to the circle x* +y* +2x-12y—132=0 which is
perpendicular to the line 12x+35y+k = 0 is

12x+5y+k = 0 26¢ B wowere god, X° +7° +2x-12y-132=0 S0
Gog), D6, B3 Dgdta0
Options :

5x—-12y+92 = 0

-

1. %

Sx—12y—246 = 0
2. ®

5x—12y-169 = 0
L 3X—12y+246 = 0

Question Number : 54 Question Id : 550053694 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

P is a point of intersection of the circles S=x"+y —6x+2ky+1=0 and
S'=x"+y +2kx-6y-7=0. Ifthe tangent at Pto S=0 pass through the centre of
S'=0and the tangent at P to S' =0 pass through the centre of $=0. then the
radius of §' =0 is

S=x"+y —6x+2ky+1=0 28cw S'=x"+y +2kx-6y-7 = 0 93 Fochd
5,50 w8 2ot Dot P. $=0% P 56 o 6,3 §'=0ding) Jodo
Aot Bty S =0 P 96 o 6,00 S=0ak08) Sogo Aot
Jd008, wiyth S =0 g, m?s&go



Options :

Tad
i)

N

4
L4l
tad

ﬁ

J65
2

Question Number : 55 Question Id : 550053695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let Z be the point of intersection of the axis and the directrix of the parabola

4 -12x +4y+5 = 0. If Sis its focus, then the point which divides SZ in the ratio
2:1is

X" -12x+4y+5 = 0 03 Hodvabo a30g), £ LBy oD To Pocd
Doty Z widosorro. ) 8 S wand, SZ & 21 33 & aod
200

Options :

'

[S—
Lad
-

b | W
l_l!
]

\
1.¢



—
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I
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Lk
-

g
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Question Number : 56 Question Id : 550053696 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a focal chord of the ellipse ?+f—6:1 meets 1ts minor axis at the point (0, 3),
J

then the perpendicular distance from the centre of the ellipse to this focal chord i

7 i

. B0 oWg) 8 Tdar| @ TFER) (0.3) Dot ¢

25 16 ¢

DOCR, R\ & B8 SB0 A, Sogdo Ao & TDar( o wow o

Options:

—
%
.




Question Number : 57 Question Id : 550053697 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let the transverse axis of a hyperbola H be parallel to the X — axis and
X' +y° ~2x—4y+3=0 be the equation of the auxiliary circle of H. If the
asymptotes of H are at right angles. then the equation of the hyperbola is

28 TNtV H g, @655 950 X - 0053 ddrodito cvbatn H ados),
AFODE B dag60 XY ~2x-4y+3=0 ervdorro. H ), wdod

0 Gaben LoOTT &0, W\ 8 BSVTHA0 GRS 25880

Options :
3x* —2y* —6x+8y—11=0

x* -y +2x+4y-5=0

3x° -2y +6x+8y—11=0

Question Number : 58 Question Id : 550053698 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

: . - P )
If the equation of the tangent drawn at (h. k) to the hyperbola , © =1

is x=2thenh+k=

1 -2
(1{1 ) _(-} - ) = | 0d0THVNrS (. k) 3¢ QAN “cabdgéaa 208800 x =2

-

29003, W\ h+k=

Options :

Question Number : 59 Question Id : 550053699 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. 1
Assertion (A): 1111% —=00
X—= %

o1
Reason (R): As the value of x decreases. the value of —increases
X

NI\88co(A): lim H %

=0 X

l
5600 (R): X Ded Sfhduot, —Dend ddhedood
X

Options:
Both A, R are true, and R is correct explanation of A

A, R a0 Soclor 20, A clwg); DOODD Db R

A. R are both true and R is not the correct explanation of A

A. R &0 Sodlr “'n::e:faé.;fm, A 033036 280D DG R 57¢0

A 1s true and R is false

A E}e‘_’aém 208w R e.a“‘rae‘.’a?gm

A 1s false and R is true

A @“@eﬁgm 0o R mqm
4.

Question Number : 60 Question Id : 550053700 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



3

(3*-1
If a function defined by f(X)=— ) X #0.15 continuous at x=0, then
sinX log(1+x)

f(0)=

3]
X)=— | ) X2 0,1 Qoodedd 28 ko x=0 54
sinX log(1+x) #

wi}i’.}b&l@é 9.‘151}:]@ f(0)=

Options :

| » 2log3

, % log 3’

5 x 2tlog3

559
4 v (og3)

Question Number : 61 Question Id : 550053701 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let [t] represents the greatest integer not more than t. Then the number of
1

discontinuous points of f(x)= }{g] in(0,)1s

[1] &R0 t 508 <) I5° B FTOSDLDR AP0l 008 0é. Ty Nes

1

(0,2)&" f(x)= :@] ) 0 D) DochiHe Do




Options :

0

Question Number : 62 Question Id : 550053702 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
< 9 -y ¥ 3 g X [ dy \
If x* Tan li—y‘ Tan' = =k, then | = =
X v \ dx /(1.1)
" I iy 3 1 X [ d_ )
x*Tan™ =—y’ Tan~ — =k 900003 & | ) =
X }r Hx d}i ,'(I 1]
Options :
L 0
, x T 4
1
3. %
/2



Question Number : 63 Question Id : 550053703 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If u:sm‘ Z | x=e"and y=t’, then t®| —
\Y) 5 dt /

o)
11'

u:sm‘i' x=e' 2Batn y=t ewowd, SN tﬁ‘ 1o
\Y) dt )

Options :

| % 20

Question Number : 64 Question Id : 550053704 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If g(x)is the inverse of the function f (x)and f'(x)= %.rhen g'(x)=
| (X

f(x) cbog), "o oot g(x)wBakw f'(x)_ﬁwm@ S\ g(X)=

Options :



h(g(x))

1.4

o 8lh(x))

(f(x))

e, f(h(x))

Question Number : 65 Question Id : 550053705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

f(x) is a continuous function on Rand y=£(x)is a curve. If (o.f)is a point such

that p =f(a) and po+mp+n=0 (p=0,m=0), then which one of the following is
True?

R 2 f(x)as wi’)%sﬁl Q00w 6ok y=F(x) w8 dgo. P=1(c)dobatn
po+mp+n=0 (p=0.m=0) eﬂdbzgéaéo.p (0, ) a8 Dotk wowd, D\ & Sod
TS B DSG?
Options :
When p+mf'(ct) =0, px +my+n = Ointersects the curve y=f(x)

p+mf'(ct) =0 eo00053nd px+my+n=0 S S0 ¥=F(x)&0 wodiod

1. %



px+my+n=0 is always a tangent to the curve y = f(x)

y=1{x) d3°08 82 px+my+n=0 IO 28 248, T

When p+mf'(a) 20, px+my+n = 0intersects the curve y = f(x)

p+mf'(c) 0 eowdpeh v=1f(x) 957y px+my+n =032 ocod
3.v

px +my +n = 01s never a tangent to the curve y = f{x)

PX+my+1n=00y83 y = f(x) 5718 260 52
4. %

Question Number : 66 Question Id : 550053706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The sum of the global mmimum and global maximum values of the function

4 . .
f(x)=—x"-4x in[0.2] is

3
4 ,

[0.2] eocstiosd” £(x) = —x’—4x ciwg) 6 (1 00 DO S
2

Q0DY Ao

Options :

1.v 0



Question Number : 67 Question Id : 550053707 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. : Y -X
If the slope of the tangent on a curve at any point (X.y) is equal to - . then the

2xy
equation of the normal at the point G g
2 340D BT Docoid (1) 36 B 0,6, B aFe & vi3ro0

2xy

Options :

, rey=v3

2. % X3y =13



Question Number : 68 Question Id : 550053708 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A(L15), B(3,-12). C[6 2)are three consecutive turning points of a continuous
curve y:f(x]. If f(x)=0 only forx =0 and x =, then ‘B—a‘ <

A(L15), B(3,-12), C(6,12)en y=1(x) e eodedy) S50 Gog), Sarcdy 5w
e DodoPen. Xx=0 daw x=f S g f(x)=0eowd, iy
‘B—u‘ <

Options :

27

-2

hn

Question Number : 69 Question Id : 550053709 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

J sin™' vx —cosI/x
\/_ sin”'vVx + cosle_)

Options :



E[siu‘1 \/;(Zx—l)+4}x(l—x)}—x+(?
T

ﬁ((s/gsiu*\f_—\-‘l—x))—%/;'ff
s

2.¥

E[(2 x—1)sin™ ﬁ—ﬁ,ﬂx(l—}i}]— X+C
3.8

E[(Z x—1)sin~' vVx —4/x(1 —X)]Tx—: ¢
4% "

Question Number : 70 Question Id : 550053710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

/ \
. w . (7
(sme’x+cos‘5 X) dx lies in the interval 'I iR

Assertion (A) : 3

[

!

o P b | F

. 6 6. . sy - : 5 T
Reason (R):sm x+cos X is a periodic function with period 2

(1 %)

—.E i@oe‘.’adsﬁbﬁa &0t

\8 2)

D380 (A) : | (sin’ x+cos’ x) dx Dewsd,

o e b3 |

60 (R): sin’ x+cos’ x 06 g & 8565 HR0HAW

Options :

1. %



Both A and R are true and R is the correct explanation of A

A 08050 R a0 Sotir Do 08ain R 0d8 A S 23 sedeso

Both A and R are true but R is not the correct explanation of A

A $060i0 R e Gotir 250, 0003 R 938 A S 030 5760 57
2.9

A is true, R 1s false

A :ae‘_’aéoﬁ R 'E'."':'::IGjSG
3. 3

A 1s false. R is true

A e_*}“’n}e:&éo. R ::,e:%c
4, ®

Question Number : 71 Question Id : 550053711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

) € , ) g I .
If J— dx =Alog(4x” +4x+5)+BTan™ | x+— |+C, then (A, B)=
4%  +4x+5 \ 2)
3542 ; sf o
'[}—d}::Alog(ﬁfx +4x+5)+BTan _x+—‘+( OWE) )Y
4% +4x+5 L 2

(A, B)=

i
r

Options:

v I\

'I...-

oo | w

1)
. glj



O | —

Question Number : 72 Question Id : 550053712 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
of L
Ie logx + ﬁ‘dX:
K_ g
Options:
X If 1 -l‘.‘l —y
e ng+—l+t
\ X
1. %

¢ \
EXLng——‘;C
X J

2._‘-’/ . A
i 2"‘
e’ ng+—‘+C
X
3. % 3



f 3 k!
e” | logx—— |+C

Question Number : 73 Question Id : 550053713 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[\/x4+x4+2
A 3

=
X
Options :
1
log[x|———F+C
1@ 4xX
1
log x‘—. i
5 % 4x

4
log|x|— —+C
ol

10g‘x‘—i4+i‘
X

Question Number : 74 Question Id : 550053714 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The area bounded by the curve x =log(|y|). the linesx =—1 and x =01s

). x=-1 &80k x=0 Fpobd BGRD TOLH

Question Number : 75 Question Id : 550053715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

s b=

f  COSX
[—
g 1l—smm”x
Options:

1. % B



Question Number : 76 Question Id : 550053716 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

b

zr_]. ]_ "
If \—Qd}; =—_then (b—1)" =
2 2X —X 2

JEL,,CIX %@cm

&, )¢ (b-1)" =
' 2X—X° " ( '
Options :

]
1.% <



Question Number : 77 Question Id : 550053717 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

5

If u(n) = J(l +sint)*sin 2t dt. ne N, then u(4) =
0

u(n) = :[(1 +sint)" sin 2t dt. n €N es00S. 9D u(4) =
0

Options :

4

281
5

-

Question Number : 78 Question Id : 550053718 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



\ ‘ 1 .
If a curve passes through (1. 2) and has the slope of its tangent 1-— at a point
x

(%.Y)- then the equation of that curve is
w8 330 (1. 2) ooz oot ', (x. Y) Dothosd) B¢ & 95703 A 06 6

1
s Te0 1-— Bandid, ey & 5w dws) 2e080t0

X
Options :
1
y=33—f
1. %
1
}.-' = X + —'
2. %
1
y=2x+—-1
3, % £
}=K+E—1
4, % X

Question Number : 79 Question Id : 550053719 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



) E”Hd

The differential equation having y=(a+b as 1ts general solution, where

a,b.c.d. are arbitrary constants, 1§
ab.c.d. e orED\S 26 dopjoand, y=(a+b) e % Fesoe S

£DAD BB%LD HIEBEHAD

Options :

y?+3yy? +6y°y +y=0

1. &
2. ®

:"[:]'} — }." — 0
3.% 7

Question Number : 80 Question Id : 550053720 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
. . . . . . dy A
The integrating factor of the linear differential equation — = is
4x +3y
d 1
VS 28 350D PLERO = Gog) PSD Do
dx  4x+3y .
Options:
—4x

1.4 ¥
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Physics
Section Id : 55005314
Section Number : 2
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Number of Questions : 40
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Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 81 Question Id : 550053721 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If speed of light in vacuum (3+10° ms™). acceleration due to gravity (10 ms™) and
mass of electron (9.1x 107 kg) are taken as fundamental physical quantities, then the

unit of time in this system is

wqoeﬁ*’ 508 ¢ (3 10° ms’t). hdosq &(Beso (10 ms™?) So8oo JUT
G303 (9.1x107' kg ) 0% PEDE S e EuEol, ¢ :che?éﬁ 500
A30E); DAL

Options :

3x10°s

1. %

510 s
5x10"s

3x107s

Question Number : 82 Question Id : 550053722 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the velocity of a particle moving along a straight line with uniform acceleration,
is givenby V= ‘ v196- 16X) ms™ | then its acceleration is

( x 1s displacement of the particle)

i 8(0ea0d 0¥ Bar Argodl’ DOFERRD) w8 Smo g Hro
V= (\/196—16}{] ms” eond od (o

( x gm0 gﬂég)péo)
Options :

8 ms™
1. %

14 1115;'2

b,
_— 8 ms

2
4w -l6ms

Question Number : 83 Question Id : 550053723 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The sum of the magnitudes of two vectors acting at a point 1s 18 and the magnitude of
their resultant 1s 12. If the resultant is at 90° with the vector of smaller magnitude,
then the magnitudes of the vectors are

8 Dothd) 36 HASARLID) Toth DB HBAPEY Awdo 18 Wbk T8
298 0% DBAre0 12, HBS 168, 395 DOAPHR0 (0 568%8 90° © Exod

)08, &8 AB%L DBATTTe

Options :

hn

; 13
1.¢

Question Number : 84 Question Id : 550053724 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two bodies of masses ‘m;’ and ‘my are dropped from two different heights by and Iy
respectively. The ratio of the times taken by the two masses to touch the ground is

(neglect air resistance)

;" 8080 ‘1’ GS(TrBIL o) Both SRUPVA, DRI Both DB Jdoww Iy

08050 Iy dood AT, &8 Got SRV FPDA TS zaeg )
(8 DBcso & D) Bozpin)
Options :

h,

b,

1. %

m, h,

m,h,

m;h,

m, h,

Question Number : 85 Question Id : 550053725 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The magnitude of the external force acting on moving bodies can be known directly
by
oo &' 30w e 1Y B erdrpein dng Hrmd) 63 T

DB[E0rT BUVRVS ey
Options :

Law of conservation of angular momentum

E'e3o BODA g oo

1. %

Newton’s first law of motion.

i mvﬁe;m S0 WD oo,
2.

Newton’s second law of motion.

‘ﬁPSéJm Codisd & Qodso.
3.

Law of conversation of energy.

35 QS| Dasavo.
4. %

Question Number : 86 Question Id : 550053726 Display Question Number : Yes Is Question
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A body of mass 10 g is tied to a string of length 0.4 m and 1t 1s whirled in a horizontal
plane with a speed of 6 ms". Then the tension in the string s

8702 10 g o 8 $R0id0 0.4 m JED o o3 48, £0 Dirod Svod
6ms” 288 30\®, 8 o8’ S
Options :

.« 1LON
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The kinetic energy of a car 1s doubled when its velocity is increased by 1 ms”. Then

the initial velocity of the car is

28 5ot ;Srwi)l 1 ms 2093, o9 fd 33 Bocodten o8, & 5°h Sddro

Options :



(1 + \5) ms”™
W

4.
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A car of mass 1000 kg having a velocity of 10 ms™ collides a horizontally mounted
spring. If the spring constant is 4000 N, then the maximum compression of the

Spring is

¢(o°2 1000 kg o a8 56> 10 ms’ Stiod DR, £8 ddroddor Do
)0 0 & §1) 8. e )06 roso 4000 N eawsd e yof ciogy, 6%
2060

Options :

25m
15m

3w dm

10 m
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Time: 0

Three particles of each mass ‘m’ are kept at the three vertices of an equilateral
triangle. If I is the moment of inertia of the system of the particles about an axis
along one side of the triangle and I is the moment of ertia of the system of the
particles about an axis along the perpendicular bisector of a side, thenI; : I is

25)8,8 "I G073 0 ) STOR w8 DI Gabwo Awg)
%‘g}@ 3¢ eoerdd. Gaoao s dowo Do 50 Do &6y S99 ke grdoso Iy
B0k 2,8 Fhao g Vo& VA ot 02 Dotd 950 NP0 &6 SR

2t gravso b, wand 1 : I
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Question Number : 90 Question Id : 550053730 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



- - : 1
Two particles of masses 1 g and 2 g move towards each other with velocities 10 ms

and 20 ms” respectively. The velocity of the centre of mass of the system of the two
particles 1s

1 goBasw 2 g QforRoe o) Goc) SEreD S6otre 10 ms™ dvdoto 20 ms”
Srred w0 oS AT LTED ddren o) 0. Gotd) $m0 S B3

So8 ifo

Options :

1 % 5 ms’!

, ¢ 10 ms™

-1
4 % 20ms
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A particle 1s executing simple harmonic motion. If the minimum time taken by the
patticle to move from extreme position to half of the amplitude is t;. and the

minimum time taken by the particle to move from mean position to half of the
amplitude s t, then

8 5630 DOV TS oo SEWR) B, S0 wod[ o Aol S0
2OAY’ tfo irdo HasPriosotiD HEM S0 S0 t Bk S0 ATE[S
SP0 Aod g0 0BBY’ Wtfo GPGo HAFHBRLD DEY 0 TV b WS
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The time taken for the amplitude of vibrations of a damped oscillator to drop to 25%
of its initial value is t. The time taken for its mechanical energy to drop to 50% of its
initial mechanical energy is

28 wamg Eerdo aRos), 4003 DONS 99 0D DONAS 25% 950335061353 ‘:’.Jeéé

S0 I, o7 alrods 38 89 airods $85 50% edkjodudh HE swo

Options :
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Satellites which give high value data for remote sensing, meteorology and
environmental studies are

Bare) ?03)305, T I ?@o, ‘f.améaﬁdee @:ﬁé&i}émcﬁﬁ DDA "a&ﬁrwi)ﬁ‘)
Gafjar’en
Options :

Geostationary satellites

BPIFSE SDEDE

Polar satellites

GyDo EDEe

Communication satellites

DG DATFTEE &0

Radio satellites
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The fractional change i the volume of a glass slab when subjected to hydraulic
pressure of 14 atm s

(Bulk modulus of glass = 40x 10° Nm™ )

14 atm Zrerd8 oédo SR, s e HuSE” diky WAVBAFN Sty

(rray esaedad oeado = 40x 10’ Nm'z)
Options:

1.44x%107°

1. %

s S
5 @ 3.54x10

2.74%107

3.14x107
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A capillary tube of radius 0.1 mm is dipped in water. The water rises to a height of

2 cm in the tube. If the surface tension of water is 0.072 N, the contact angle
between water and wall of the tube is

P8 0.1 1 o S3940 ABS" SwodD. & S80S’ A6 2 e Ao

3% N3 LBty 3498 Ay duds| 0y, Seaidw,

(96 svsdys = 0.072 Nm)

Options:
R T
tF = cos_li—;
- 3.6
{ 1 !
0= cos —‘
S
2. %
/ 5
|
o= cos_l‘—‘
3. %
1)
= cos_l[—J
B2
4, %
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A rod is found to be 0.05 cm longer at 40 °C than 1t is at 10 °C. The length of the rod
at 0 °C 1s

(coefficient of linear expansion of the material of the rod = 1.5X fi* &)
28 scg Tt 10 °C el 968 S0t 40 °C asTtied 5¢ 0.05 cm ey S od.
o 0 °C 3¢ & sg‘g, ey

G ks = -3 op-l
( s§ ) Qgﬂ% Koo = 1.5x107 °CY)

Options :

. 101.1 cm

5 % 120.2 cm

;3 % 105.1cm

4 11l.1cm
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In the cyclic process given in the P-V diagram, the work done is

P-V G5 ddodS” adiwdd S50 D3a0eS’, DD HY

n(P,V, — P,V,)

118
E(Pz o Pl)(VE o Ul.)
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In a Carnot’s engine, as the gas gives heat energy to the sink, then the temperature of
the sink

28 5°8) obododS’, raind) Iderioos &E8D @, Iderdato Aing)
AL
Options :

mcreases

Feloblgblablelal

decreases

eﬁg.‘:eijﬂﬁ

remains constant

Do &otnod
3. ©

becomes zero

'&Jaﬂl@sﬁgmo&
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The work done by a gas is maximum when it expands from a volume V; to V, then
the expansion is

208 T050) Vi 207 983700 00d V) Dod08armds avééﬁaoaa@bm 8 0
200 nsad

A



Options :
Isothermal expansion

Paveddo T(Eo

Adiabatic expansion

- gﬁ:ﬂgé F5§é0

Isobaric expansion

HAYOE T Jﬂég’ o

Free expansion

foga“& m}sgﬁffso
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The relation between the pressure (P). volume (V) and average kinetic energy (E) of
a gas is

TP A0 60 (P), 208 080 (V) dobotho rfew (o %3 (E) 06§
208060

Options :



Pl

2. ® 2V

E

P=—

- 3V

2E

P=——
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Beats are produced by frequencies v, andv, (v, > v, ). The duration of time
between two successive minima is

Gocty Y[RV, 2080 1, Doy SBARIRR) aw. A Both S
200 s’ncﬁﬁ s”e.nbybé

Options :

U, +U,

-2

v, — U,
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The image formed by a convex mirror of focal length 30 cm is a quarter of the size
of the object. The distance of the object from the mirror is

30 cm a**arigoe‘.@do A w8 0Tz cédbeao W8 DY) g@eﬁawﬁ)l NVN)
DB8re0d T Hody HLrEOT JBYEIHE. oM St SBah Sy
:DGS?S 8o

Options :

1 % 30 cm

90 cm
2. %

120 cm

60 cm
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A diffraction pattern is obtained by using a beam of red light. If the red light is
replaced by the blue light

23R 5°08 o DV T8 DG ROONA. G 5708 )0 WERVT

A ot 50BN EDEPAOND
Options :

bands will be narrower

- ) ¢
geée_u roé;lrw ;ch“jc:iaéu

bands become broader

a’:éée_u DERONTT bo:)c:am

no change in the width of the bands takes place

DO D Do ATEY Eotdd

bands disappear
D $IDoBD)
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An infinite line charge produces a field of 9x10"NC™ at a distance of 2 cm. The
linear charge density is

28 ©3080d 6 %0 dod 2 cm Erdod” G DS £ B

o

Ox10°NC". wawd 3dab esd% Fogd

Options :

107Cm™
1. %

15x107Ccm™
2. %

- 10°Cm™
3. %

4% 1.5x10"°Cm™

Question Number : 105 Question Id : 550053745 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two electric dipoles, each of dipole moment ‘P’ are placed at points A (a.0) and

B (-a.0) as shown in the figure. The work done in rotating both the dipoles through
90° in clockwise direction is

(E = Electric field)

DX dradky, P grdudo fo God S G oo ddore A (a)
SBao B (-a0) 3¢ eocscdd. 335&%93@ & g% S55%00 90 ° G

B0DHVVD DA,

(E= ko &8 60) :

Options :

PE

1. %

Zero

é‘\
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2. ¥

2PE

P

?
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A parallel plate capacitor having capacity Cy is charged to V. With battery
disconnected, if the separation between the plates is doubled then the energy stored
in it 1s Ey. Instead if the separation between the plates is doubled, with battery in

; < & By 3
connection, the energy stored in it is Ey. Then the value of =% ig
E
1

3ara) Cp 6o w8 DAToSE DO Sardtd & Vg ﬁ”é}igodaé &) 3D DO
a0 Sofiod, 3006 Doy S| drdo B0 B WS’ Jug &) 3

E. eachere &P5é382) H0h0eY Eot), Srned Husy Qe8] Groed) B8
BN e90¢hHes’ Jex &d) #3 Ey. wand E— Dend
1
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Two resistances are connected in the two gaps of a meter bridge. The balancing
point is obtained at 20 cm. When a resistance of 15€) 1s connected in series with the

smaller resistance of the two, the balancing point shifts to 40 cm. The value of

smaller resistance is

G0ty Aoy tath D2 ). Gocty arded SDAIYL V0B Doty
&rdo 20 cm. & B0ty Abed'd Ry A 15Q 33’ vt
20800 Docdoe) 40 cm AL Ar8dA. wand e SO B Ded
Options:
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A uniform metal wire carries a current of 2 A when an 1deal cell of 3.4 V is
- : 3 : 3.3
connected across it. The wire has mass 8.92x10™ kg . density 8.92x10"kgm™ and

resistivity1.7x10™*Qm. Then the length of the wire is

w8 D800 &' Bl 34V w68, eindd 8% odabod 2 A deixd
5RPeB0, & & ¢iee3 8.92x107kg, o 8.92x10°kem” Sbato ey
1.7x107 Qm, evond &3 &6 T
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, % 0.8m

3 ¢ 10 m

4« 15.6m
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A circular coil of 30 turns and radius 8 cm carrying a current of 6 A is suspended
vertically in a uniform horizontal magnetic field of magnitude 1.0 T. The field lines
make an angle of 30° with the normal of the coil. The magnitude of the counter
torque that must be applied to prevent the coil from turning is

€98 202§ 30, TR0 8 cm $DA 6 A DS DITROD) 28 BTV SO
1.0 T08ire0 6d) J408 S8 2irodd wabd) od Edod d8a voworr

ST, Sifcoy) Svo wonod £ S 30° 8o S0 an.
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5.4 Nm

1. %

2 % 7.2 Nm



3.6 Nm

4 v 1.8 Nm
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A galvanometer has a deflection of 25 divisions for a current of 0.1 A flowing
through it. Then the current sensitivity of the galvanometer is

28 rOEarago oo 0.1A 3@5& QS 25 darrren wdddTe $9A

Gold, & Ard%0 JES VTP ) S
Options :

25 div/iA
’|_ W

, 250 div/A

. 2.3 div/A

- 0.25 div/A
E
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The magnitude of the axial field due to a short bar magnet at a distance of 50 cm
from 1ts mid-potnt is

: = i 2
(The magnetic moment of the bar magnet 1s 0.4 Am’)

w8 T Socmalod oo Sucs] Dockou) dvodd 50 cm eirBo ¢ & SorraldRF) oo

H0d wdader 8 K880

(Bocahar) oo eaR) 08 ervso 0.4 Am’)
b b0 &
Options:

3.2%107T
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L« 1.6x107T

6.4x107T
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4w« 48x107T

Question Number : 112 Question Id : 550053752 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
An ac gE'IlE‘I'ETDI' converts

ac 2006 o DBHEH0

Options :

electrical energy into mechanical energy.

VRS $SD AdroBS FSTT.

1. &



electrical energy into magnetic energy.

DesogS 33D 9 0 B3
2. ®

mechanical energy into magnetic energy.

| 08rods #5J 90O, 0 B3
3.

mechanical energy into electrical energy.

A3r08S S DS FSTT
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A resistor of resistance R and an inductor of mductive reactance R are connected in
series to an ac source. A capacifor of capacitive reactance 2 R 1s then connected in
series with L and R. The ratio of the power factors of LR and LCR circuits is

28 ac 252035 AB¢o R ffo WYy Hobakw HOLS D880 R o 08
2050) 335" $Darcd. &5 ST Sk OG0 2R o wg SFDLE v L
08050 R £ 363¢° dardd. LR svoain LCR soaire m% 650 A
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1 | 5 |

5 x 1:2
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When a metal target is bombarded with high energy electrons, the electromagnetic
waves generated are

2€ S vg{oky 088 33 $DAD J&Jg’mveﬁﬁ wDrdo BB 69wy
:Jm5csméngoa Sorren
Options :

mfrared waves

DoAY SHSorTen

microwaves

8 SGorren

X-rays

X-3de7e

Zalllilla rays
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The threshold frequency of a photosensitive material is v. When photons of
frequency 2v incident on the material, photoelectrons are emitted with a maximum
linear momentum P. To get photoelectrons with maximum linear momentum 2 P,
the frequency of the mcident photons is

w8 I Arg) mEr( DGR wiod FaYIo v. & 2GR 2v Fi)0
o Perdonn DESRNE aardd T Jugdon (183 Sdab gagro P. e}
B0k g0 2P o Jes° JOROW egjr-do LD TIVND JErde
TR0
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An alpha particle of energy K MeV is moving towards a nucleus of atomic number
Z. The distance of closest approach of the alpha particle to the nucleus in metres is

D0AE Do Z o a8 Sogso i) K MeV 33 ffo a8 wery o Sthendod) 6.

30er3, ey 3 €0l wd(od Frud Krbo ide”
Options :

Z
T2x 107 =

3.84x 1016 Z
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The nucleus having highest binding energy per nucleon is
2,8 8), QOFSOITS < 30830 ¥S (160 ™ (o So¥so

Options:

160
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%Pl

‘He
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The device that can detect optical signals is
S°0S DosSTrod (8o KOG HBSGo
Options :

zener diode

ﬁﬁ‘lé Godré

photo diode
IS gors

light emitting diode

Sr0ed &?d Eaars



transistor

&R0
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The load resistance and the base-emitter voltage of a transistor in CE configuration

are 5k ) and 0.02 V respectively. If the collector current is 2 mA, then its voltage
gain is

CE oo &' g EPNR6 aiog), o0 Ao Bk BTFGo-GIR6RY Sga
S 5k(), Sobatn 0.02 V. ord 24863 DBAD Dairo 2 MA oW, &7
a0y Sge 53
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The process of retrieval of information from the carrier wave
TS SBGorko AOD) VAT Jod DIad
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: P T ;
The number of d - electrons in Cr™ ion (Z = 24) 1s

Cr' wosrd (Z=24)&" dd- DS © Doady
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: ; i . i .
The laser in an audio compact disc uses light of wavelength 7.8 x 10" nm. What 1s
the frequency of light emitted by laset?

w8 wlairsoars ARy & ad &26 78 x 10> nm S60rigg o fio 520839

&0ty Sotod. Gab od GErEGR 508 :3%?;93(550 Do Jod?
Options :
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Consider the elements Ne, Na, Mg. The element with highest first ionization
enthalpy and element with lowest second ionization enthalpy respectively are

Ne. Na, Mg o0& H8tiedociod. @@5&5 DG WEVIEAD ;)oa:;s“bb ffo Aorwgo

$08080 (L BB BAVRED ro;s“@g (0 V50 G

Options :

Na. Ne
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; » Na.Na

« Mg, Na
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The IUPAC symbol for the element with atomic number 108 is

DEATED R0y 108 re duredo a3ns), [UPAC Ho3e¢ho
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The correct order of C — O bond length in CO, C Oi' .COs1s

CO, COT 08080 CO, & C—0 208 860 2T goo

Options:
CO=CO; = CO,

1.4

CO;” <C0,<CO
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COL0E,<C0;

CO,<CO; <CO
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The P — P — Pbond angle in P4 and S - S—S bond angle in cyclo Sg molecule are
respectively

Py’ P—P— P exods §eao 0605w 00k Sgeoendd)d S - §—S ot Eeao

Options :

107°. 60°

8 Gins
, o 60°.40

0 0
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At 300 K, the compressibility factor of 1 mole of a gas is 1.1. Its pressure is 2.706
atm. What is its volume in L?

(Given R =0.082 L atm mol K7
00K 96, 1 ard o ;:aoﬁaagg@o g 11, o Hedddw 2.706 atm, o

800800 L ¢ dodh?

(2396 R =0.082 L atm mol” k)
Options :
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5 v 10

. 100

0.1
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At T (K) and pressure P, the diffusion rate of an ideal gas is 120 mL min”. What is
the time taken (in sec.) for 3000 mL of this gas for diffusion at same temperature
and pressure?

T (K) 06050 aédo P o 9B 8 866, TR THOD Bt 120 mL min™. e0d

e 6T 36 3000 1L © TR0 Tdo FoErd3 HhY TOKW

(sec. 0F) Jos?
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, » 1500
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Observe the following reaction
XS, (s)+yOH (aq) —» zS (aq) +2S,0;™ (aq)+ 6H,0 (1)
X. vy and z are respectively.
Sodd SR 083000
XS, (5)+yOH (aq) — 28 (aq)+2S,0; (aq)+ 6H,0 (1)
X, Va8050 Z &0 HERMT

Options:

1.12. 4
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1,12, 2

oz 14,12
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If AGand ASfor the reaction A(g) - B(g)+2C(g)at 2000 K are -40 kJ mol™” and

0.22 kI K mol” respectively. the change in internal energy for the same reaction
: . Y
approximately (in kJ mol ™) 1s

2000K $¢ A () - B () + 2C (&) 568 AG , AS w0 $6Rm -40 kI mol™,
0.22 k7 K mol™ evanss @065 e30§ w008 #8 ortioy (KT mol'o’) wwiecior

Options :

| v 366.7

-366.7

Question Number : 131 Question Id : 550053771 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If 100 L of an ideal gas at a pressure of 2 atm compressed isothermally and
reversibly to a final volume of “X" L releases -460.6 L atm heat. the final volume
‘X' (inL)is

2 atm &0 36 100 L 9686 osnid) D3P egbmeéom Deridods 0
08arnw X' L £ %08 Do -460.6 L atn &0 dendca, 306
8085780 X (L &)

Options :

1.*1

L« 20

3 ¢ 10

Question Number : 132 Question Id : 550053772 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Observe the following equilibrium at T(K)

T(K) .;ﬁg) o0& “@é&@“é}}@ﬁ 8200
H,(g)+1,(g) =2HI(g)

Which one of the following does not disturb the above equilibrium?

308 TES’ DB D ALTRA Do B
Options :

1. &



Addition of H,(g)

H,(g) &> senipe

Removal of HI(g)
HI(g) &0 Sddaind

Addition of In(g)
I)(g) & Seupe

Addition of He(g)

He(g) & S0

Question Number : 133 Question Id : 550053773 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following solutions

308 grodmredd H838ochw

I. Black coffee I1. 0.2M NaOH II1. Lemon juice
40 T i) 690

IV. Lime water V. Human Saliva VL. Tomato juice
)2 N AT ereravo LATET 590

The number of solutions with pH less than 7 is

7 08 8985 pH dewsd i gradere o3

Options :

Question Number : 134 Question Id : 550053774 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following. the correct statement 1s

S08 TS DOAD Tojy

Options :



Tritium is radioactive and emits low energy y —rays

Btoo O6arErd) S Hurdo fuBaky wor 33 o ¥ - STV &ER00 WV

1. %

H™ does not exist freely

H” Ry 235" coddd
2. ¥

W . g < i
Tritium is about one atom per 10 atoms of protium

o 10° FBoo HEATEVL w8 BHOHN HEATVD) YD Gotnod
3. % 2

Hydrogen is very reactive compared to halogen

TS’ 08 IO TE2D So°ROS L) O
4. %

Question Number : 135 Question Id : 550053775 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two alkali halide salts, AC1 and BC] gave crimson red and violet m their flame test
respectively. A and B are respectively

ar(er 2088 Botd &ma}@ FOE en ACl 08050 BCl &0 $8m o) 80
6ot ea (violet) Sorbdd 658 0arow. A 208050 B ev SR
Options :

 « K.Li

Li, K
2.



Li, Na

Na. K

Question Number : 136 Question Id : 550053776 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of water molecules present in borax, kernite and bauxite respectively
are

o5y, 35)85 ok ey of’ ot I8 erdHw Roay HERT
Options :

o 10,42

LA
—
-2

i
[~
ri

4% 10,4, 10

Question Number : 137 Question Id : 550053777 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements
Assertion (A): The enthalpy of formation of graphite is taken as zeto.

Reason (R): Graphite is thermodynamically most stable allotrope of carbon

The correct answer is

406 Boch TR RIBEA.

D380 (A): TR AT Do Joc;:w% R0 W) T GROLOEPED)
sdno  (R): €1OETR0 05700 6\ Srarodoos Mot wds 20 srarosto
2B DATTR

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 28050 (R) &0 Btk HBAHHD 2080w (A) £ (R) 285 Dddes
1.4

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)

(A) 238050 (R) &0 Bot DGR 59 (A) & (R) 983 iddes 576
2. ¥

(A) 1s correct but (R) 1s incorrect

(A) 9803058 52 (R) 28T0HE 5°¢d
3. %

(A) Is incorrect but (R) 1s correct

(A) 2838 526 52 (R) H2BALIS
4. %

Question Number : 138 Question Id : 550053778 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the following organic halides in the increasing order of their
dehydrohalogenation reactions in the presence of alcoholic KOH

502795 KOH 208085 308 Rofah FPE odo T dipgireaddon Soo
DorT eudyoc:

CHCHBr CHiCHCH:Br  CH,CHBrCH;  (CHs)CBr

(A) (B) ©) (D)
Options :
, v A<B<C<D

5 % D<B=<C<A

, x A<C<B<D

4 B<A<C<D

Question Number : 139 Question Id : 550053779 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The major product of the following reaction is

Socs QBEICRD S P Sodradio I6?

CH,CH, Bi
©/ »  Produd
UV Light \JasPmSo

Options :

CH
Br Br
/O/CHQCHB
Br

ETr

UCH%CHEB.—

Question Number : 140 Question Id : 550053780 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the x-ray reflection (n=1). the distance between two parallel planes of NaCl is 280

pm and diffraction angle is 5.2°. What is the wavelength of it’s light radiation
(Sin 5.2°=0.09)

X- $68 Do (n=1) aiog), 0oeH8H08 NaCl SUNETIRCUIARNIS S IRl
&G0 280 pm 0800 DI S0 5.2° wand o 08 DSde0 ahos),

édﬂﬁ@?}go ~odd? (Sm 5.2°=0.09)

Options :

0.504 A°
1.¢

5.04 A°
L . 504A°

504 A°

Question Number : 141 Question Id : 550053781 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

When 10° M solution of glucose m water, freezes at -0.0186 °C, then at what
temperature 10° M solution of NaCl will freeze?

107 M (788 grasmo $BB% D6 cog), 20088 i -0.0186 °C eawd

&l 56 107 M NaCl grimo 20028840 Bochai?
Options :

0 II}(:.‘

1. %



0.186 °C

2. %

-0.186 °C
3. %

-0.0372 °C
4. &

Question Number : 142 Question Id : 550053782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Molal depression constant (Ky) is dependent on
QTeeTeed :)mie:e ?gcﬂosm (Kf) B0 esmEcosn?
Options :

Nature of solvent
_— Grsdes D0
Nature of solute

- SO (D0

Number of moles of solvent

Grees eSS © oAy
3. %



Number of moles of solute

TrDB) QO © oS

Question Number : 143 Question Id : 550053783 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A first order reaction has the rate constant of 1.15x10™s™. The time required to

reduce 10 g of reactant to 6 g is xx10”sec. What is the approximate value of x?

= 0.48)

Ll

(log5=0.7, log
8 D0 830 1] G0 Dorodin L15x1075™. 10 g Sosrase) 6 g 0%
SAocHErS @éﬁ)d@@% o0 xx107sec WaNd T X Jed
(log5=0.7,log 3=0.48)

Options :

% 22

N
#
L4l
)

o 44

4 = 1

Question Number : 144 Question Id : 550053784 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements
Assertion (A): Conductivity of an electrolyte decreases on dilution
Reason (R): On dilution number of ions per unit volume increases

The correct answer 18

4ot Botd TR ADWETON
[ [
3380 (A): w8 QS TE Firsdi0 o & Srbdood
S0 (R): D0 30 w8 carAES w0darH0 & @asrd o] il

20E0d DT
Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) 208050 (R) &0 Bot HBHD 28050 (A) £ (R) HOGS Dd6es

1. %

Both (A) and (R) are correct and (R) is not the correct explanation of (A)

(A) 208050 (R) &0 Bt 2839, (A) £ (R) 260D b6 56
2. %

(A) 1s correct but (R) is not correct

(A) 9858 529 (R) HBI8 5°¢%
3. ¥

(A) 1s not correct but (R) 1s correct

(A) 28238 526 =29 (R) 2358
4. %

Question Number : 145 Question Id : 550053785 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In which of the following, the sol is not correctly matched with respect to its charge?

306 TS S8 atbotdy 6, T wd$ Horr VB adBabacS?

I AL,O,xH,0 sol; +ve sol

I ALO,xH,0Fe; +ve 36

II. Starch sol ; +ve sol

II Q“S:J FS : +ve

M. Ti0, sol:~ve sol

IML.TiO, & ; -ve &

IV. Methylene blue sol; +ve sol

IV. 069 ar 9 ; +ve 3¢

The correct answer 1s
NBALA RAFEEd0
Options :

 « LIV

L o LTI

Lo LI

,w ILIV



Question Number : 146 Question Id : 550053786 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

X , o

— | and log (p) is shown below with intercept OA.

il
[
The graph drawn between log
\m

X
What is the value of — at a pressure of 0.3 atm? (log 2 = 0.30. log 3=0.477)
m
{ X A
— |, log (p) & 06) Spotao Socs ehrexidE. 08 octo OA. 0.3
)

log

X
P05 b0 56 — Dewsd Jody? (log 2=0.30, log 3=0477)
m

]agll I-'|1J

03010
0
log (F) —
Options:
v 06
5 % 0.5



0.7

Question Number : 147 Question Id : 550053787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List I List IT
(Method) (Metal refined)
A) Zone refining [) Sn
B) Liquation IT) In
C) Vapour phase refining III) Zn
D) Distillation IV) Zr
V) Al
The correct answer 1s
308 TP BANEAW
Al | o Il
(268) (308 i &'ro)
A) dootto Fedo I) Sn
B) oS 2658) Seao II) In
C) ey s Ao 1) Zn
D) Ao V) Zt
V) Al
26D PArEE0
Options :

- A-IV, B-1, C-III, D-V



5 » A-lL B-1, C-IV, D-III

A-II. B-V, C-III. D-I
3, #

, % A-LB-IL C-IV, D-II

Question Number : 148 Question Id : 550053788 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following are not in accordance with the property mentioned against
them?

L E> Cl,> By, > 1, : Oxidising power

I. MI > MBr > MCI > MF:Ionic character of metal halide

I E, >Cl, >Br, >1,: Bond dissociation enthalpy

IV. HI < HBr < HCI < HF:Hydrogen-halogen bond strength

308 & Satboty T8 e ArDedd GT UL BRbE0T Bi?

LE>ClL> B>, sy avm%o
IL MI > MBr > MCl > ME: &'ir ¥g6 wosirdd vgno
I F, >Cl > Br, > 1, 0v0¢d Dsobsd Qorm%

IV. HI < HBr < HCl < HF: 888 - 5fd'a o ewo

Options :

1. %



I & III only
[ & III soeghado

IT & III only

1T & III &
2. ¥

[ & IV only

I & IV g
3. %

IT & IV only
, &IV SAT°eH0

Question Number : 149 Question Id : 550053789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Observe the following complexes

306 dogrody Hoedotod

| Ma CI\] [Fe(@N),] . [Co(c,0,),] . [MuCL, | [Fe(cN),] . [CoE,|

From the above, the number of inner orbital complexes with paramagnetic nature is

D B, Do wahd0d Aerdo & &) wodd w\EPS Do Doy
Options :

1.v 2



2.

LY

3. %

Question Number : 150 Question Id : 550053790 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following statements are correct?

. : '
i. | Mn(CN) J [MuCL ] both are paramagnetic
ii. Both [NiCl4]2_ ; [Ni( CO) J are tetrahedral and diamagnetic

iil. | Co(NH, ]J is fnner orbital complex, but [Ni(NH, ), is outer rbital
complex.

308 Dddew & OAHID AN?
L [Ma(CN),] . [MuCL]™ Botr romonidy o ogersdo 0D

ii. Both [Nl(l ] [1\1 CO) ] Cocir BErarEd o) 8o, dcﬁrﬂﬂboeﬁ (0

god).

i [Co(NH, ), | @086 sB,m 030, 2 [ Ni(NH, ), | arir 6t
030

Options :

1. %



1. 11 only

i, ii Sresdo

i. 111 only

i, 1l S
2. %

i1, 111 only

i1, 111 &rredadd

3. %

1, 11, 1ii
E

Question Number : 151 Question Id : 550053791 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Poly dispersity index of a polymer is 1.25. If M is 800, what is its My ?

w8 56 vg), D DFond ards dewd 125 & Ma Deod 800 eowd
My Deosd Joch?

Options:

850

900

. 950



4 » 1000

Question Number : 152 Question Id : 550053792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Deficiency of which vitamin causes convulsions?

2 DD S°D0 Do He Brio HH?

Options :

Riboflavin

35" DD

Thiamine

SO

Ascorbic acid

57,635 2500

Pyridoxine

a&f%:,é

19

Question Number : 153 Question Id : 550053793 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Addison’s disease is characterized by
A. Hyperglycemia
B. Weakness
C. Increased susceptibility to stress

D. Hypertension

B P By 2Ly VLT

C. 2948 D Pod

D. 850
Options :

A,C

, % A.D

3.v B.C

B.D

Question Number : 154 Question Id : 550053794 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following
List-1
A. Broad spectrum
B. Typhoid
C. Bactericidal

D. Bacteriostatic

308 T &dh N3G
Fao-1
A 08¢ Soird) Do
B. 8rané
C. 4rg) ity 30D

D. Arg) oo A8 0t

The correct answer is

28R AT
Options :

 x A-ILB-LC-V,D-II

A-ILB-IV.C-V.D-1II
2. ¢

. A-IILB-IV.C-II.D -1

List-1I
L. Amoxycillin
II. Vancomycin
[II. Erythromycin
IV. Chloramphenicol

V. Ofloxacin

o -1
IARREIRIR
IL 7052009
IIL B R
IV. STrondss

V. 85008



4. % A =L B=IL€=-IV =%

Question Number : 155 Question Id : 550053795 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Least reactive alkyl chloride m a Sx2 reaction is

308 &S’ SN2 WSS’ S ST ST(RVS 66X &) S FGE 67
Options :

1-Chloro butane

1- §8 a5
1- Chloro 2-Methyl propane
e b S8 2- @S T0d

2- Chloro 2-Methyl propane

2-8'8 2- @S T

3. %

2-Chloro butane

2- §8 (S
4. % '

Question Number : 156 Question Id : 550053796 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following alkyl halide is most reactive towards substitution by Syl
mechanism?

Soc8 AN Bg) 6 FIE 08’ DB DA Db Drfore Syl 07§ derdods’
3“3.:3" 0008?
Options :

.« (CH3);C-Br
- (CH;3)3C-1

(CH;);C-F
3. %

4 % (CH;3);C-Cl

Question Number : 157 Question Id : 550053797 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is the major product, when p - cresol is treated with zinc
dust?

p- $36 205 TS 66" FE8) 0\, 306 THE D6 D 68y 0’
Options :

Toluene

OR

1.9



Heptane

o 15 )
e

Methyl cyclohexanol

RS pE LSS
3. %

Methyl cyclohexane

DFS PEIPEND
4. %

Question Number : 158 Question Id : 550053798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are “X" and “Y" respectively in the following reaction sequence?

$08 eSor(g00 & X Bobakw Y e debom DI?

C,H.CH,—~C,H.CO,H— 5 H,CH,0H

Options:
X =PCC ; Y oii) B.H,
- (ii) H,O"
X=(1) KMnO, /OH : Y =NaBH,

(11) H,O”



X =(i) KMnO, / OH ™ A: Y = (i)B,H,
(ii) H,0" (i) H,0"
3. %
. X=PL: Y=LAH

Question Number : 159 Question Id : 550053799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the major product of the given reaction

SO0 QBB B[ A0S, DI &B\T*) A (HotSoc?

COOH

Br,/FeBr;
—  » Product éeﬁg@;ﬁw

Options :
Benzoyl bromide

. 3025008 &5 2éE

Bromobenzene

- 83 D BoED



4-bromo benzoic acid

4-25"20° 3028 008 es0

3-bromeo benzoic acid

3- e3°0° 830 0wS ess0

Question Number : 160 Question Id : 550053800 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In the given reactions, ‘X" and Y’ respectively are

QDN SofoS” X Sodakn Y’ e SR

C,H.CH,NH, <=~ (.H.CONH,— ¥ >C,H.NH,

Options :
LiAlH,.H,O : Br, /OH™
1.9 ) )
 Br,/OH LiAlH,.H,0O
2. % - :
Br,/H" NaBH,
3. % B
NaBH, : Br, /H”

4, %



